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Sample ID FerrihydriteGoethiteMagnetiteVivianiteHematiteMarcasitePyritePyrrhotiteR-factor

a

Spot 1 50 38 5 7 0.032

Spot 2 34 59 7 0.078

Spot 3 47 34 9 10 0.030

Spot 4 42 39 9 10 0.018

Spot 5 30 52 5 6 7 0.017

Spot 1 11 62 9 10 7 0.082

Spot 2 73 7 11 9 0.042

Spot 3 45 39 9 8 0.031

Spot 1 21 56 5 8 10 0.041

Spot 2 16 62 3 11 9 0.046

Spot 3 33 51 6 9 0.032

Spot 4 65 3 5 15 11 0.029

Spot 1 39 10 12 25 13 0.059

Spot 2 14 56 3 14 13 0.047

Spot 3 69 5 11 14 0.035

a

 R-factor = [sum((data - fit)

2

)] / [sum(data

2

)]
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